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Question b) With Z; = X, — X3
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Question b) With Z, = X, — X3 we get E((Xy — X3)?)
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Question b) With Z, = X, — X3 we get E((X, — X3)?) = E(Z3)
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Question b) With Z, = Xy — X3 we get E((X, — X3)3) = E(
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Question b) With Z, = X, — X3 we get E((X, — X3)*) = B(Z5) = —¢ +

Question ¢) X5 and X3 are independent thus uncorrelated.
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Question b) With Z, = X, — X3 we get E((X, — X3)®) = E(Z3) = —t + 3 = &.
Question ¢) X5 and X3 are independent thus uncorrelated. The new variables
Zl :X2+X3 and ZQ :XQ—Xg
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Question b) With Z, = X, — X3 we get E((X, — X3)®) = E(Z3) = —t + 3 = &.
Question ¢) X5 and X3 are independent thus uncorrelated. The new variables
Z1 = X5+ X3 and Zy = Xy — X3 are correlated.
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Question b) With Z, = X, — X3 we get E((X, — X3)®) = E(Z3) = —t + 3 = &.
Question ¢) X5 and X3 are independent thus uncorrelated. The new variables

Z1 = X9+ X3 and Z; = X3 — X3 are correlated.

E(Z175)
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Question b) With Z, = X, — X3 we get E((X, — X3)®) = E(Z3) = —t + 3 = &.
Question ¢) X5 and X3 are independent thus uncorrelated. The new variables

Z1 = X9+ X3 and Z; = X3 — X3 are correlated.

E(Z,2,) = E(X3) — B(X3)
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Question b) With Z, = X, — X3 we get E((X, — X3)®) = E(Z3) = —t + 3 = &.
Question ¢) X5 and X3 are independent thus uncorrelated. The new variables

Z1 = X9+ X3 and Z; = X3 — X3 are correlated.

B(Z17) = E(X3) — B(X}) = § - }
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Question b) With Z, = X, — X3 we get E((X, — X3)®) = E(Z3) = —t + 3 = &.
Question ¢) X5 and X3 are independent thus uncorrelated. The new variables

Z1 = X9+ X3 and Z; = X3 — X3 are correlated.

B(17) = E(X3) — B(X3) =}~ 1 =1
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Question b) With Z, = X, — X3 we get E((X, — X3)®) = E(Z3) = —t + 3 = &.

Question ¢) X5 and X3 are independent thus uncorrelated. The new variables
Z1 = X9+ X3 and Z; = X3 — X3 are correlated.
B(iZy) = B(X}) - (X)) =4~} = 1 # 3
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Question b) With Z, = X, — X3 we get E((X, — X3)®) = E(Z3) = —t + 3 = &.
Question ¢) X5 and X3 are independent thus uncorrelated. The new variables

Z1 = X9+ X3 and Z; = X3 — X3 are correlated.

E(Z\Zy) = E(X3) — BE(X3) = 5 — 5 =5 # 35 = BE(Z)E(Z)



